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QUESTION 1

If | want to have an extremely high confidence that leaders and replicas have my data, | should use
A. acks=all, replication factor=2, min.insync.replicas=1

B. acks=1, replication factor=3, min.insync.replicas=2

C. acks=all, replication factor=3, min.insync.replicas=2

D. acks=all, replication factor=3, min.insync.replicas=1

Correct Answer: C

acks=all means the leader will wait for all in-sync replicas to acknowledge the record. Also the min in-sync replica
setting specifies the minimum number of replicas that need to be in- sync for the partition to remain available for writes.

QUESTION 2

We want the average of all events in every five-minute window updated every minute. What kind of Kafka Streams
window will be required on the stream?

A. Session window
B. Tumbling window
C. Sliding window
D. Hopping window
Correct Answer: D

A hopping window is defined by two propertiesthe window\\'s size and its advance interval (aka "hop"), e.g., a hopping
window with a size 5 minutes and an advance interval of 1 minute.

QUESTION 3

A topic "sales" is being produced to in the Americas region. You are mirroring this topic using Mirror Maker to the
European region. From there, you are only reading the topic for analytics purposes. What kind of mirroring is this?

A. Passive-Passive
B. Active-Active

C. Active-Passive
Correct Answer: C

This is active-passing as the replicated topic is used for read-only purposes only
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QUESTION 4

What are the requirements for a Kafka broker to connect to a Zookeeper ensemble? (select two)
A. Unique value for each broker\\'s zookeeper.connect parameter

B. Unique values for each broker\\'s broker.id parameter

C. All the brokers must share the same broker.id

D. All the brokers must share the same zookeeper.connect parameter

Correct Answer: BD

Each broker must have a unique broker id and connect to the same zk ensemble and root zNode

QUESTION 5

What is returned by a producer.send() call in the Java API?
A. Future object

B. A Boolean indicating if the call succeeded

C. Future object

D. Unit

Correct Answer: C

Seehttps://kafka.apache.org/21/javadoc/org/apache/kafka/clients/producer/KafkaProducer. html
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